
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/209hh-5hp-3ph-table-assembly
8/24/25

209HH 5HP 3PH Table Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/209hh-5hp-3ph-table-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/209hh-5hp-3ph-table-assembly
8/24/25

Description

Index Number Part
Number Description Size Qty

1 6292724 Eccentric Shaft  4

2 6292679 Bearing 6201Z 4

3 6292722 Roll  2

4 6292728 Knob  2

5 6292727 Locksmith  2

6 TS-1523041 Set Screw M6 x 12L 4

7 6292724 Eccentric Shaft  4

8 6292729 Socket Head Cap Screw M8 x 1.25P x 20L 8

9 6292726 Locking Bolt  2

10 6292725 Locking Bar  2

11 209-2011 Table  1

12 209-2012 Extension  2

13 TS-1490041 Hex Cap Screw M8 x 25L 6

14 TS-1504041 Socket Head Cap Screw M8 x 20L 6

Additional Information

Stock Number 1791316-5

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/209hh-5hp-3ph-table-assembly

